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Warm Up Grade 8

Find the volume (Show all work)
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Warm Up Grade 8
solution

Jan.22, 2014

Find the volume (Show all work)

Area of base = L x W V = Area of base x height
=20mx8ml| = 160m?> x12m
= 160 m?2 =1920 m®

20m
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Finding Volume of Triangular Prisms
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You can find the volume of any prism using the formula we stated yesterday.

Volume =Area of base x height

First, determine the shape of the base, then find its area, finally multiply by the

height of the prism.

Base shape of a triangular prism is ALWAYS a S-Q“,'ﬂ\g,

‘A bxh
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\J = Avesea X Q

Avesid =0 em™
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page 205-206
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page 205-206

#5, #6, #7, #8, iy, #10, #11

Test Next week on Unit 4 Volume & Surface Area

77?7
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